Class Activity # 5                                                                                                 SCI 1300                                     


(1) Close to the surface of the Earth, acceleration due to gravity is about –32 ft/sec2. Assume that a cannon ball shot vertically into the air reaches an average velocity of 150 ft/sec during its first second of flight. Compute the velocity of the cannon ball at the times listed below:

	time (sec)
	velocity (ft/sec)

	1
	150

	2
	 

	3
	 

	4
	 

	5
	 

	6
	 


(2) Suppose the cannon ball is fired from an initial height of 200 ft. Compute the height of the cannon ball for the times listed below:

	time (sec)
	height (ft)

	0
	200

	1
	 

	2
	 

	3
	 

	4
	 

	5
	 

	6
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